2MJS/2\\J

FHEE WERT AN

LRRKNEFHE

th 2 ¥
th 2 BAK




BHEE WERTAb BE 2MJs/2MJd/2MJZ

(11 (1) @ 30— 2(a—b)=3a—2a+2b

=a -+ 2b
@ 43y L 2(-2w4y) _ 3r—9y—160+8y
4 3 12
_ 13z —y
12
(:_13x+y :—ﬁx—l>
12 12 12
® 5.2 .3 22 _ a?b?® x 3 x 4a*b*
a“b +§ab X (2ab®)” = 53
= 6a3b3

@ (243)(a—-5) =a>—2z—15
® (20— 1)(4a® + 2a — 3) = 843 + 4a® — 6a — 4a® — 2a + 3
=8a® —8a+3

®&y,

3z+1)=2(y—2) o 3r—2y=—T e @
@&y,

20c+1)=z+y e Ty =2 e )
O -@x2kh, 2=-3
@ IRRALT,

—3—y=-2 foy=—1
o =-3 y=-1



® {x_|_y_|_Z:2 ...... ©)
20 +3y—z=-7 @
42t dz=T - C
O+ &,
3y+5z=9 ... ®
@+®x2 &0,
2z + 3y — =z = -7
+) 2z + 4y + 8 = 14
Ty + Tz =7
y + oz = 1l---n ®
@D-®x34L&y,
3y + 5z =9
-) 3y + 3z 3
2z 6
z = 3
® &,
y=—-2
@&,
rT—2+3=2 r=1

(2] (1) 7. 1HOFLIFATT, TORSIDPELLLRLDT, @
1. ADODADPTRTELLREDT, @

(2) A ABF=AGBF &), AF=GF ---@ A
/AFE = ZAEF (= ZGFE) & 9,
AF=AE
£ -T, AE=FG

¥72, AE /FG Thahs, 1ol B D G
PVATC, TORIPELVOT, WA AEGF W FATUAE - @
®, @&y,

EBDED 2BVOEEHELWPATUAR DT
MUY AEGF 30 L TH 2.



(31 (1) (7)a=-2 b=—-1, c=3 #RALT
4=14+9-2x(-1)x 3z

4 =10+ 6z
6x = —6
r=-—1

(4»)2bcx=b2—|—c2—a2

b2 + 2 — g2

€Tr =
2bc
2)(7) k=-2 y=-1X&Y (4) WBIZ y &3 C
ZE—(—I) :(_2)2 !.C—y:k‘2y
—1 9
—r—1=4 —y-ky=-=
—r=5 (P +1y=—=x
x = —5 Yy = 2:1}
k“+1

[4] AoBEOM, +of, —OfoFsZhEhe, v, 2 B E, G2ONEEMELD,
A =100z + 10y + =
B =100y + 10z +
C =100z 4+ 10z +y
B, LoT, Gashiofte kT L,
(EHOM) =0 +y+2=17
A+ B =(100z + 10y + 2z) + (100y + 10z + =) = 934
B+ C = (100y + 10z + x) + (1002 + 10z + y) = 1348
BHLT,
r+y+z2=17 ---@
101z + 110y + 112 =934 --- @
11z + 101y + 1102 = 1348 ---®
@-®Ox11 &Yy,
90z 4+ 99y = 747
S 10z +11y =83 --- @
@x10-0B &b,
9992 + 999y = 7992
Lrty=8---G®
@®-®x10&D,
y=3
Sr=5, z=9
CNHIEREIC#HT L. L72S> T, A =539



[5] CD IEE FI2DG =BF £ %255 G % &
5.
A ABF £ A ADG 2BV,

EFEDOTRTOBIEFEL VRS, A
AB=AD ---@©
EHEOTRTOMTIEL 1D,
Z/ABF = ZADG ---®@
FEK LY,
BF =DG ---®
®, @ @&y, 2BLZOHEDHNENE B
NELWDRS,
A ABF = A ADG
ok E,

/AGE = /AFB (& ABF = 2 ADG)
= /FAD  (AD J/ BC &A% L)
— /EAD + /FAE
= /EAD + /BAF  (J552)
— /EAD + /DAG (2 ABF = 2 ADG)
= /EAG
LoT, 20075 LT, AE = GE.

e GE=DGCG+DE =BF+DE () kv,
AE = BF + DE (FERA%)




[6] 2 OBE &2 ODF 2B\,
SEATIUATE O R iz E e o
HTREbLDLDT

OB = OD

¥7,
/EOB = /ZFOD G TE#)

Z/OBE = ZODF (§££9) B E C

.2 OBE = A ODF (1 38 i 4H 4%

koT, BE=FD. Zhé BC=AD CHTUBEORI) X
BC—BE =AD -FD

~EC=AF ---Q©

¥7:, BE=FD &K% BE J/ FD £V, 1 #lOMAIFATH2% Lo, BEDF &
SPATIU L.

X502, EL Y NARSER L TWADT, BEDF 20 LF

O LIEOR fRIENfA % 2 %55 5 DT,

/BEO = /DEO ---®®
A%EY ED ICPIT4ERE EFOIEELOLEEZT &35, FATHROEMITEL W
DT,

/AIF = /DEO ---®

EATROFRMAIEE L VWO T

/AFI = /BEO ---@

@ G @&y
/AIF = /AFI

2ODMHPELVDOTAI=AF. The QO BLIRELY
Al = AF
=EC (@O&D)
=EG  (IUE)
ik Al J/EG (TEK) &0, 1O AT R S04 LT AIGE 137471
AT
AL O Xt fafdH T b 5 DT, AH = HG (REWH%)










